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，則其通解為何？(A)
[image: image26.wmf]x

x

x

e

x

c

e

x

c

xe

c

y

3

3

3

2

2

2

1

-

-

-

+

+

=

 (B)
[image: image27.wmf]x

x

x

e

x

c

e

x

c

xe

c

y

3

3

3

2

2

2

1

+

+

=

 (C)
[image: image28.wmf]x

x

x

e

c

e

c

e

c

y

3

3

2

2

1

+

+

=


(D)
[image: image29.wmf]x

x

x

e

c

x

e

c

x

e

c

y

3

3

2

2

1

sin

cos

-

-

-

+

+

=

 (E)
[image: image30.wmf]3

3

2

2

1

x

c

x

c

c

y

+

+

=


6.  Use convolution theorem to find 
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7.  Using the convolution theorem to find the inverse Laplace transform
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8.  Find Laplace transform L[
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9.  Using Laplace transform solve 
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10. Solve
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